d[cu] = cdu
d[uiv]=du+a’v
d[uv] = udv + vdu

d[g} _ vdu — udv

v vz

d

d—x[f(g(x))] = f'(g(x) * g'(x)

2 [r@a]= 1t

jF (x)dx = F(x)+C

Differentiation Formulas

“lc]-0
=[] = 4

%W(x)] - ()
%[f(x) £ g(0)]= /(D) £ e')

%[x"} = x|

d ;.
—[sinx] = cosx
dx

—d;[cos x] =—sinx

%[tan x] = 5602 X

% [secx]=secxtanx

;ix-[cot x] =— 0302 X

d
E[cscx] =-—cscxcoty

Integration Formulas

Joax=c

[t = boc+ €

:kf(x)dx —k j F(x)dx

[£()+ gr)dr = [f(x)dx+ [g(x)ax

n+l
X

[ = +C, nz-1

n+1

_‘cos xdx =sinx+C

[sin xdx = —cosx+C
:sec2 xdx =tanx+C
[sec x tan xdx = secx + C

r 2
ese” xde=—cotx4+C

cscxcotxdx=—cscx+C

a

Jr@ax=0

a

b
Jfds == [ f ()

b

b ¢ b
|7 = [f(x)ebe+ [f(x)ax

b b
j kf (x)dx = k j F(x)dx

b

b b
Jlreo = gax] = [fdr+ [glx)d

a




